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1. 
 equals:
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Watch Video Solution
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2. The value of 
 is:
 (1) 
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 (3) 
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Watch Video Solution
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3. Let 

Then
 which one of the following is true?
 (1)


 (2) 
 (3) 


(4) 

Watch Video Solution
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4. Let p(x) be a function defined on R such that


 , for all p' (x) = p' (1 − x)
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 and 
 . Then


equals
(1) 21 (2) 41 (3) 42 (4) 

Watch Video Solution

x ∈ [0, 1], p(0) = 1 p(1) = 41

∫
1
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5. The value of  is

Watch Video Solution

∫
1

0
dx

8 log(1 + x)

1 + x2

6. If 
 , then 

equals:
 (1) 
 (2) 
 (3) 


(4) 

g(x) = ∫0x cos 4tdt g(x + π)
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.
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Watch Video Solution

7. If the integral

then a is equal to
(1) 
(2) 
(3) 1 (4) 2

Watch Video Solution

∫ dx = x + aln|sinx − 2 cos x| + k
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tanx − 2
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8. If 
 , then 
 is

equal to
 (1) 
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 (4) 

View Text Solution
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9. The integral 
 is

equal to
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10. The integral
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View Text Solution
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